LA x+y = 92 WESH= x, y o A9 7ol A B 4
2x+y—11%‘?_}—'— She x, y &4l A4S W gL Fateleh (2,

YER
=¥



2. xyk AAZolT, éx—l—y:2%_“ﬂ1 (x. y) 8] A4 eIz o}
olat,

B e A



St 57t (a,3a) & o, a & BE2 ot



5 A@57t gtk £ A5 g 21 oln A g ofek. o] £

Ag Ffole)



yA#els L, a

LS
g

©

dx-y=3--

ot

<]

?_

O
=

of gt

.

Ul



0

I

0

<ff |
I =
o

| |
= 2>
NI

— |
y —
Q=

| |
= =
NN
N ™
——



ghe Fotolet.



8. the ARWUAA o g Petolet
0.8x-0.1y =0.2
3x+2(-x+2y) =-1

'é*:x

E,l':y:



ANA x o] gte F-steiet.



o_e

A 2%x+y+1=6x+2=5x—y—2

H4rA
tof et

S

[e]

H

Sl
7

10.



